## Derivatives of Exponential and Logarithmic Functions Goals: Derivatives of Exponential Functions

- 2) Derivatives of Logarithmic Functions
- (3) Logarithmic Differentiation.

Keview of basic differentiation formular

$$\frac{d}{dx}\left[x^n\right] = nx^{n-1}$$

$$\frac{d}{dx}\left[\sqrt{x}\right] = \frac{1}{2\sqrt{x}}$$

$$\frac{d}{dx} \left[ \frac{1}{x} \right] = -\frac{1}{x^2}$$

$$\frac{d}{dx} \left( \sin x \right) = \cos x$$

$$\frac{d}{dx}$$
 (conx) = -sinx

$$\frac{d}{dx} \left[ \sin^{-1} x \right] = \frac{1}{\sqrt{1 - x^2}}$$

$$\frac{1}{1+x^2} \left( \frac{1}{1+x^2} \right) = \frac{1}{1+x^2}$$

$$\frac{d}{dx} \left[ u^n \right] = nu^{n-1} \cdot \frac{du}{dx}$$

$$\frac{d}{dx} \left[ \sqrt{u} \right] = \frac{1}{2\sqrt{u}} \cdot \frac{du}{dx}$$

$$\frac{d}{dx} \left( \frac{1}{u} \right) = -\frac{1}{u^2} \cdot \frac{du}{dx}$$

$$\frac{d}{dx} \left[ \sin u \right] = \cos u \cdot \frac{du}{dx}$$

$$\frac{d}{dx}\left[\cos u\right] = -\sin u \cdot \frac{du}{dx}$$

$$\frac{1}{1}\left(\sin^{-1}u\right) = \frac{1}{\sqrt{1-u^2}}\cdot\frac{du}{dx}$$

$$\frac{d}{dx}\left(\tan^{-1}u\right) = \frac{1}{1+u^2} \cdot \frac{du}{dx}$$

(1) Donivatives of Exponential Function.

0121 3

(1) Porivatives of Exponential Function. f(1) = e; f(2)=e2 Bane e:  $f(x) = e^{x}$   $f(1) = e^{x}$   $f(2) = e^{2}$   $f(-1) = \frac{1}{e^{x}}$ ,  $f(-2) = \frac{1}{e^{2}}$ If  $f(x) = e^{x}$ , then  $f'(x) = e^{x}$ . In Leibnitz notation: de [ex] = ex If u is a function of x;  $\frac{d}{d} \left( e^{u} \right) = e^{u} \cdot \frac{du}{dx}$ In Newton's notation:  $(e^{f(x)})' = e^{f(x)}$ . f'(x)E.g. Find the given derivative. (a)  $\frac{1}{dx} \left[ e^{\pi} \right]^{u} = 0$  (b)  $\frac{1}{dx} \left[ e^{-x} \right] = e^{-x} \cdot (-1) = \left[ -e^{-x} \right]$ (c) de(x) = e . Necx. tanx  $\left(\begin{array}{c} \left|\frac{2}{2}\right| \right)^{1} = e^{2x} \cdot 2$ Exponential Function with base other than e.  $f(x) = 2^{x} \quad ; \quad f'(x) = ?$ Given a > 0; a \( 1 \); a \( \neq e \).  $f(x) = a^{x}$ . Formula:  $\frac{d}{dx} \left[ a^{x} \right] = a^{x} \cdot \ln(a)$ u: function of x. u In(a). du

Derivatives of Exp and Log Page 2

$$\frac{d}{dx} \left[ a^{u} \right] = a^{u} \cdot \ln(a) \cdot \frac{du}{dx}$$

$$E.g.$$
  $\frac{d}{dx}$   $[2^{\times}] = 2^{\times}.$   $2^{(2)}$ 

Why? 
$$\frac{d}{dx} \left[ \left| \frac{2^{\times}}{2^{\times}} \right| \right] \times \left[ \left| \frac{2^{\times}}{2^{\times}} \right| \right] = \left[ \frac{2^{\times}}{2^{\times}} \right] \times \left[$$

$$(2^{\times})' = (2^{\times \ln 2})' = e^{\times \ln 2} \cdot \ln 2 = 2^{\times \cdot \ln 2}$$

E.x. (a) 
$$\frac{d}{dx} \left[ 5^{(\alpha \wedge (3 \times))} \right] \left( b \right) \frac{d}{dx} \left[ x^{\pi} \cdot \pi^{x} \right]$$

$$\left(b\right) \frac{1}{dx} \left[x^{\pi} \cdot \pi^{x}\right]$$

Solved in las

(2) Porivatives of Log Functions. Matural log function: f(x) = ln(x)

$$f(x) = 20000$$

$$f(x)$$

$$l_n(1) = 0$$
  $l_n(e) = 1$   $l_n(e^2) = 2$ 

$$\frac{d}{dx}(\ln|x|) = \frac{1}{x}; \quad \frac{d}{dx}(\ln|u|) = \frac{1}{u} \cdot \frac{du}{dx} = \frac{u'}{u}.$$

$$u : \text{ function } \neq x$$

$$\frac{d}{dx} = \frac{2}{x} \quad \Rightarrow \text{ Implicit Differentiation } = \frac{1}{x} \cdot \frac{dy}{dx} = \frac{1}{x} \cdot \frac{dy}{dx} = \frac{1}{x}$$

$$e^{y} \cdot \frac{dy}{dx} = 1 \quad \Leftrightarrow \frac{dy}{dx} = \frac{1}{x} \cdot \frac{dy}{dx} = \frac{1}{x}$$

$$\frac{d}{dx} \left[ \ln(\sin x) \right] = \frac{\cos x}{\sin x} = \cot x$$

$$\frac{d}{dx} \left[ \ln(\cos x) \right] = \frac{-\sin x}{\cos x} = -\tan x.$$

$$\text{Unoful Properties of the lon function } = \frac{\ln(u \cdot v)}{\ln(u \cdot v)} = \ln(u) - \ln(v)$$

$$\ln(u \cdot v) = \ln(u) - \ln(v)$$

$$\ln(u^{y}) = \ln(u) - \ln(v)$$

$$\ln(u^{y}) = \ln(u) - \ln(v)$$

$$\ln(u^{y}) = \frac{\ln(u)}{2} + \frac{\ln(u)}{2} = \frac{\ln(u)}{2} + \frac{\ln(u)}{$$

$$= \frac{2}{2 \times +3} - \frac{4}{4 \times +5}$$

$$= \frac{2}{2 \times +3} - \frac{4}{4 \times +5}$$

$$= \frac{1}{2} \left( \frac{1}{3 \times +2} \right) = \frac{1}{3 \times +2} \left( \frac{1}{3 \times +2} \right) = \frac{1}{3 \times +2} \left( \frac{1}{3 \times +2} \right)$$

$$= 2017 \cdot \frac{1}{dx} \left( \ln(3x+2) \right)$$

$$= 2017 \cdot \frac{3}{3x+2} = \frac{6051}{3x+2}$$

E.x. Find the derivative (Remember to use the properties of 
$$ln$$
)

(a)  $ln(\sqrt{5x+7})$ 

(b) 
$$l_n \left( \frac{\left(2x+1\right)^5}{\sqrt{x^2+1}} \right)$$

Solved in lan.

Bare 
$$\pm 2$$
:  $f(x) = \log_2(x)$   
  $b \pm 0; b > 1; b \neq e$ .

$$\frac{d}{dx} \left[ \log_b x \right] = \frac{1}{x \cdot \ln(b)}$$

$$\frac{\text{E.g.}}{J_{x}} \left( \log_{2}(x) \right) = \frac{1}{\times \ln(2)}$$

Derivatives of Exp and Log Page

$$\frac{1}{\sqrt{3}} \left[ \frac{1}{\sqrt{3}} \left( \frac{1}{\sqrt{3}} \right)^{2} + \frac{1}{\sqrt{3}} \right] = \frac{1}{\sqrt{3}} \left[ \frac{1}{\sqrt{3}} \left( \frac{3}{\sqrt{3}} \right)^{2} + \frac{3}{\sqrt{3}} \right] = \frac{3}{\sqrt{3}} \left( \frac{3}{\sqrt{3}} + \frac{1}{\sqrt{3}} \right) \left( \frac{1}{\sqrt{3}} \right) \left( \frac{1}{\sqrt{3}} \right) \left( \frac{3}{\sqrt{3}} \right) \left( \frac{3}{\sqrt{3}} \right) \left( \frac{1}{\sqrt{3}} \right) \left( \frac{$$

Problem: 
$$y = x^{\times}$$
  $\frac{dy}{dx} = ?$ 

Loyarithmic Differentiation:

1) Take the la of both sides:

lay = lax

2) Implicit Differentiation: take the derivative u.n.t.x of both sides

$$\frac{d}{dx}[lny] = \frac{d}{dx}[x. lnx]$$

 $\frac{1}{y} \frac{dy}{dx} = \frac{1 \cdot l_{nx} + \frac{1}{x} \cdot x}{}$ 

$$\frac{1}{y} \cdot \frac{dy}{dx} = ln \times + 1$$

3) Solve for dy.

4 Replace y by xx: So,

$$\frac{dy}{dx} = x^{\times} \cdot (\ln x + 1)$$

$$= (x^{3} + 1)^{\frac{1}{x}} \cdot \frac{dy}{dx} = ?$$
Solved in law